Qs. 1-15. Read the following passage carefully and
answer the guestions given below it Certain words are
given in bold in the passage to help you loecate them
while answering some of the questions.

Though the Cold War has ended, selective tactics
are still continuing for ensuring the military and eco-
nomic dominance of developed countries. Various
types of technology denial regimes are still being
enforced which are now being mainly targeted against
developing countries like India.

Today, we in India encounter twin problems. On
one side there is a large scale strengthening of our
neighbours through supply of arms and dandestine
support to their nuclear and missile programmes and
on the other side all efforts are being made to weaken
our indigenous technology growth through control
regimes and dumping of low-tech systems, accompa-
nied with high commercial pitch in critical areas.
Growth of indigenous technology and self-reliance are
the only answer to the problem.

Thus in the environment around India, the num-
ber of missiles and nuclear powers are continuously
increasing and destructive weapons continue to pile
up around us, in spite of arms reduction treaties,

To understand the implications of various types
of warfare that may affect us, we need to take a quick
look at the evolution of war weaponry and the types
of warfare, I am highlighting this point for the reason
that in less than a century we could see change in the
nature of warfare and its effects on society.

In early years of human history it was mostly
direct human warfare. During the twentieth century
upto about 1950, the warfare was weapon driven. The
weapons used were guns, tanks, aircraft, ships, sub-
marines and the nuclear weapons deployed on
land/sea/air and also reconnaissance spacecrafl. Pro-
liferation of conventional nuclear and biological
weapons was at a peak owing to the competition
between the superpowers.

The next phase, in a new form, has just started
from 1990 onwards. The world has graduated into
economic warfare, The means used is control of mar-
ket forces through high technology. The participating
nations, apart from the USA, are Japan, the UK, France,
Germany, certain South-East Asian countries and a few
others, The driving force is the generation of wealth
with certain types of economic docirine.

The urgent issue we need to address collectively
as a nation is, how do we handle the tactics of econo-
mic and military dominance in this new form coming
from the backdoor? Today technology is the main
driver of economic development at the national level.
Therefore, we have 1o develop indigenous technolo-
gies 1o enhance our competitive edge and to generate
national wealth in all segments of economy, Therefore,
the need of the hour is arm India with technology.

1. Why do certain countries use selective tactics
against developing countries?

(1) To help developing countries gain military and

economic independence

(2)To help developing countries govern them-
selves and be economically independent

(3) To ally with developing countries to dominate
aver ather developed countries

(4) To curtail their domination over developing
countries

(5) None of these

2. Which are the issues of great concern that India
is facing at present, according to the author of the
passage?

{A) The supply of high-tech weaponry by other
countries to India's neighbours who are likely
to use the same against India.

(B} Other countries secretly helping India's neigh-
bours to strengthen their nuclear might.

(C) Obstruction of India's genuine efforts to
develop its own nuclear technology.

(1)(A) and (B) only  (2) (B} and (C) only

(3)(A) and (C)only  (4) All (A), (B) and (C)

(5) None of these

3. Enforcement of technology denial regimes by
developed countries implies which of the following?

(1) Dominance of developing countries over deve-
loped ones

(2) Exploitation of developing nations by the
mightier ones

(3) Targeting of developed countries by develop-
ing countries

{4) Sympathizing with underprivileged countries

(5) None of these

4. The striking difference in warfare before and
after 1990 was the shift from:

(1} guns, tanks, etc to nuclear weapons

(2} ships and submarines to spacecralt
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{3) weaponry 1o economic warfare
(4) economic forces to high technology driven
warfare
{5) None of these
5. Why according to the author, is it necessary to
examine how weaponry and warfare have evolved?
{A) To understand their implications for us,
{B) To learn the rapid changes that have taken place
in weaponry and warfare,
{C) To master them and enable us to attack our
Enenies.
(1) All (A}, (B) and {C)
{3) (A} and (C) only
{5) None of these
6. According to the author, the most effective way
to counter our major problems is to:
{A) develop indigenous technologies.
(B) compete with other countries in their warring

(2) (A} and (B) only
i4) (B) and (C) only

tactics.

(C) generate national wealth in all segments of
BCONGNTY.

(1) AlL (A}, (B} and (C) (2} (A) and (B) only

{31 (B) and (C) only (4) (A) and (C) only

{5) None of these
7. What, according to the author, is the solution to
our problems in the international field?
(A} Importing up-to-date technology and nuclear
equipments from developed countries.
(B) Developing our own in-house technology.
{C) Fliminating dependence on developed countries,
{1) (A} and (B) only (2} (A) and (C) only
(3)(B) and (C) only (4) All (A), (B) and (C)
(5) None of these
8. What is the general outcome of arms reduction
treaties as a whole according to the author of the
possape’
{1) They seem to have become totally defunct
{2) They have achieved the desired outcome in most
Cases
{3) They have resulted in curbing the trade of
destructive weapons
(4) Piling up of wapons has significantly reduced
due ta such treaties
{5) None of these
9. What, according to the author, is the immediate
problem to be collectively resolved by our country?
{1) To counter the dominance of developed coun-
tries through money and nuscle power
{2) To eradicate poverty and become economically
self-reliant
{3) To control the exorbitant rate of population
growth
{4) To develop indigenous technology to manufac-
ture mightier weapons

{53) None of these

0s. 10-12. Choose the word which is MOST nearly
the SAME in meaning as the word printed in bold as
given in the passage.

10. Reconnaissance

(1) Investigation (2} Reserved

(3) Recognizable i4) Remedy

(5) Attack

11. Proliferation

(1) Explosion 2) Devastation
(3) Discomfiture {4) Abundance
(5) Extraction

12. Evolution

(1) Magnification (2} Expansion
(3} Progression i4) Modification
(5) Changing

0s. 13-15. Choose the word which is MOST OPPO-
SITE irt meaning of the word printed in bold as given in

the passage.

13. Indigenons

(1) Local (2} Domestic

(3) Abroad {4) Foreign

15) Exporied

14. Dominance

(1) Agpression {2) Submission
(3) Assertion {4) Ignorance

(5) Lethargy

15. Continuously

(1) Ilegitimately (2) Unconditionally
{3} Insensitively i4) Uninterrupted

(5) Intermittently

(s. 16-20. In each question below four words which
are numbered (1), (2), (3) and (4} have been printed in
bold of which one word nay be wrongly spelt or inap-
propriate in the context of the sentence. The nunber of
that word is the answer, If all the four words are correct-
Iy spelt, mark (5) ie. “All Correct” as the answer.

16. Non-communicable{1} diseases(l) are a
major(3) concerned(4) for people in this region. All
correct.(3)

17.The industry is poised(l) for a quantumi2)
jump as it has ventured into Indian markets
which have excellent(3) growth opportunities.d) All
correctis)

18. The government administration is required to
undergo(]l) a radicle(2) transformation(3) for better
service orientation{4). All Correct(5)

19. The squwad(]) that was entrusted with the task
of detection(2) of explosives and their neutralization(3)
has completed the assignment.(4) All Correct.(5)

20. The equipments{l) used for surveillance(2)
must be reliability(3) and of appropriate(d) quality.
All Correct.i5)
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0. 2135, Which of the phrases (14 (24 (3} and {4
gven below showld replace the plvase given m haold i
the following sentence fo make the senfence grammety
carlly meartrgpul ad correct. If the setence 5 correct as
il No corvection & redquared’, muark () oos ihe
REEWEE.

21. As soon As she ocpened rthe umbrefla, B
scorplon fell abowur of i

(1) Tl aagp Froam

3} el tan aal

(5 Ni carree linn reguired

I3 A tnowe leader's life is o saga of dedicating 1o
the canise of welfant of human heings,

(13 of declicated

i.2) of having dedication in

i3) of dehicatson ta

(4} for dedication at

(5) N cormection requined

2% He firmly believes that a significant change in
e structures of owr vamous departments is necessary,

(1) sigralicant m chamge among flee stnx ures

(21 sigrdficant changing st nimes

(%) skgnificantly chemging throughout the smciures

(4) sigrilicant change amang the struchures

[5) Mo corne tion required

24, Despite being considerable diffculty, this s
ane of the most popular exeroses

(1) considerably difficult

() comsiderabde diffioul

(3} camsiderable diffeoul tres

(4} considerably and dilficulty

(5) No cormection requined

25, The praver ks most likely to start a8 6.00 5 m,

(1) be most lkely starmed by

(21 ks mostly lked te siart at

(31 is mosily like o slarting &1

(4 is most kel start at

(5) Mo corredtion requined

B 11 vou wonld like 1o reomsider your decision,
PRease give & word 1o me.

(11 have a ward 1o

(21 have a ward wath

(1) give aword for

(41 hitwe b give i ward 1o

15) MNo copreciiun reguined

2T I | were vou, ] camnot have granted him amy
refeet

(1) did mot have granted

(23 wauld not granded

(3) would not have been granting

(4] would nol bave graoied

(5) Mo cormection requined

IR The et were 50 complicated that they cauld
ot be easily resolved.

(1) easdly Been resobod

2 (el ol o
{41 bell Eroam ofl

(ZHhave been resolving

{3 b casily resaolye

(4} had 10 be easiby resalved

(5} Ko correction regquired

2%, Over-explovanon of ground water lias been led
o thekr levels falling drastically snd causes drsughis.

(11 las ke v thedr bevels falling drastically

121 was keading its levels to be fallen drastically

131 has beei led 10 their leveds drastically el

(b was being ledd 10 levels el drastcally

{3} No correction recuared

38. Why you refrained fram mention this paint is
il sarprise jo me,

{1 redraired Erom nentioning

(2t refrained from mention of

(¥} refraan from any menticn of

{4} refrained to hinee amy menthon of

{5} Mo correcrion redulred

31. The production of the factory's varkous depart
rnenits bad nof been satisfactory this vear.

{1} bave mol been

(2} was ol b

(31 willl nor bave heep

(4} haas net e

13} Ho currection regquired

3. A cormitter comprising of imminent scholars
from varionss bechmcal instifubes was set up,

(v eomprising with eminent

(2} comprised eminen|

(3} comprising eminent

{4) comprising emanently

{5} No correction required

33.In the receni held oricker maich, mosi of
plavers recorded more than fifry nuns.

il recent holding

Zhrecently le=ld

13 recent held

(4 recent holding of

151 Wio correction reguired

M. Inkabitants ol that Jecality can dassily inlo
only 1wo groups, namely the poor and very poor,

{ 1 willl chassify in

Zhcon classify for

Cibwilll He dlassilied brtween

{41can be classifled into

{3} No correchion requared

25. He pathered courage smd nished o the blasi
sight to save his colleague

(11 blast she w save

{2k last sight for saving

31 sast sive Lo salety

(4} blast sight so that 19 save

(3} Mo cofrection reduired

(s, ¥4 Resmrrange (e foflowing serfences (AL
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(B}, {C}, iD), {E} and (F} inte a meaningful paragraph and
then answer the guestions given below it.

{(A) Moreover salaries in public sector enterprises
are nol as competitive as those offered by pri-
vate or foreign corporates.

{B) This trend should be a wake up call for stake-
holders to examine why emplovees are seeking
better opportunities with private companies in
India and abroad.

(C) Public Sector Enterprises (PS5Es) have been
experiencing severe challenges in attracting,
motivating and retaining their key stafl.

(D) Having identified these as the reasons
employees leave PSES it is important (o empower
stakeholders to find ways to remedy the
situation.

(E) One reason is that young employees lured away
by private firms are more willing to undertake
professional risks.

(F) Employees in spedialist roles especially have
become increasingly difficult to retain.

36. Which of the following should be the FIRST

sentence afler rearrangenent?

(DA} @)@ () @D ((5)(E

37. Which of the following should be the SECOND

sentence after rearrangement?

(LB @@ (3) Dy () (E) (5) (F)

38. Which of the following should he the THIRD

sentence afler rearrangemnent?

(LAY (2) By (3) (C) (&) D) (5 {E)

39. Which of the following should be the FIFTH

sentence after rearrangement?

(1)(A) @@ (I @D (5 F

40. Which of the following should be the LAST

(SIXTH) sentence after rearrangement?

(1J(A) () (B) (3} (C) (44D} (5)(E)

Q5. 41-50. In the following passaae there are blanks
each of which has been numbered.  These
numbers are printed below the passsage and against
each five words have been suggested, one of which fills
the blanks appropriately. Find out the appropriate word
in each case.

Traditional bank architecture is based on bank
branches. These branches ensure the physical (41) of a
customer's savings. A customer may go there to deposit
and withdraw money. (42} loans and (43) in other finan-
cial transactions. In the past two decades banking archi-
tecture has changed—the Automated Teller Machine
(ATM) has been a big (44) and credit and debit cards
have created new financial spaces. (43) the bank branch
has remained the bedrock of the banking system—after
all a person needs a bank account in a branch before he
can operate a debit or ATM card. This may be about to
change as technocrats now (46) cell phones as the new
architecture of virtual banks. This has the potential to

make branches (47). Cell phone banking looks especial-
ly relevant for India since it can penetrate the country-
side cheaply and (48). The world ever celi phones are
spreading at a (49) rate and in India alone new cell
phone connections are growing at the rate of six million
a month a rate of customer (30) that no bank can dream

af,

41. (1) knowledge (2) security
(3) presence {4) confidentiality
(3) guarantee

42. (1) negotiate 2) advance
(3) credit (4) disburse
(3) sanction

43. (1) pursue (2) interact
(3) operate {4) enable
(3) engage

44, (1) drawback {2) hurdle
(3) consequence {4) luxury
(5) innovation

45. (1) Despite {2) Although
{3} Even 4) Yet
{3) Until

46, (1) view (21 realise
(3} display (4) engineer
2] assess

4T, (1) eszential (21 abhsolete
(3) extant {4) retreat
(5) expired

48. (1) moderately
(2) occasionally
{3) compulsorily
(4) indiscriminately
(5) effectively

49. (1) phenomenal {2) gradual
(3) proportionate {4) competitive
13) projected

50. (1) discount (21 base
(3) expansion {4) satisfaction
(5) relationship

ANSWERS
1.5} 2.4) 3.(1) 4.14) 5.(2)
6. (4) 7.(3) B.(1) 9.(2) 10.(1)

1.4 12.(3) 13.(4) 14.(2) 15. (5)
16. (4) concern

17. (5} All correct

18. (2) radical

19. (1) squad

200, (3} reliable

21.(2) 22.(3) 23.4(5) 24.(1) 25.(5)
26.(2) 27.14) 28.(5) 29.(1) 30.(3)
1. () 32.1(3) 33.(2) 34. (4) 35.(1)
36.(3) 37.15) 38.(5) 39.(4) 40. (2)
41. (2) 42 1(4) 43.(3) 44. (5) 45. (4)
46.(1) 47.(1) 48.(5)  49.(1) 50.(3)
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